EARAROBEEIERT — 2 N— IBISH —F

2017858148 (H) 3E&H2H

mgaa X AEBESHER C2 HoR—M [l [mamm — |5 @) oo 7a
[A&4£] 1% :300,000" ~ 23#%&:75000M”  33%&:38,000M  47&:22,000H .~ 57&:15,000 H
mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
Fa—TYF 6 é'%fg’t%% 1:31.4 1-1-1-1 | 40.0| — | 1 | 501 Kﬁijg-lﬂﬁ% (&)
: (=) - AEf==
QiYL AKYIYRIRX BU4—->I8=54 (-9) P e
OINS &2 44 4 4 S'EJ%E 1:(332).0 2-2-2-2 | 40.5| — 2 517 %';%2’:“%‘; (BH)
LI hT—IEY B:3%F RE— (-2) Heh #2
EESAE D f 5 | S 1:(332).6 3-3-3-3 |40.8| — | 3 | 462 E(%)ﬂj /(%iﬂ)/ X
LT EIAYTY IR BFIA—LTL RS #) | yny 55 .
- BIFFE o —-g-8— _ RHEMEEL (5
>4 % 4 4 i&ig.oﬁ 1.(333).2 9-8-8-7 | 40.4 5 (4_6;) %g?t—;wfg?)h
R:JG7—3IU7> B:57Y—ENL ik e
- sy s Rt : —~6-6- - EZEE (S5
5lglo|TEF2T2Y 6 R 1(.13?2.)3 6-6-6-4 | 41.1 4 (4_623) vt
L:TITRAFTEIN BS54 ) X8 =g &
S, P MARKH . =7 = mILRE (FH
6l5l5| 71>2xEUT 5 LTS 1.(323).7 7-7-7-8 | 41.3 8 (4_311) i (&)
R:ZFAT—ILK B:vFiLF pailz:be )
718l10/ /N PILY 2T =X f 5 | R 1508 456|410 = | 10| a2 | REDHE B
Qi IUTY BARLTY ) em mz
slzl7 | 7HoH~N—% 27 15%150?-5* 1:(314).0 5-4-5-5 | 41.9| — 6 473 fg%ﬁﬁm (BH)
R:VPARYIYRIZX BRFARNYIH (-5) HEIT7—L
gl7lg|vt—5-5721-7 # oo | BESK 1:34.0 8-9-9-10 [40.8| — | 9 | 461 ﬁ%ﬁgﬂﬂ (=)
RiEL/OTOL BiREFSuER e W) g
= o HERIE : -10-10- = REELEHL (FH)
10 2 R 4 e 1(}:\3%) 10-10-10-9 | 40.1 7 (4_417) il
Z:arFaq4y b B:2=/k0%k0 BEZX4&Y K
® 1 — @B
1T=7r= 3,4,1,10,7,9,5,8,6,2
2a=5"= 3,4,1,(7,10),9,5,6,8,2
Ja=5= 3,4,(1,10),7,9,5,6,8,2
43—+ — 3,4,1,9,7,10,6,5,2,8
[ /N
B 3 220M 714K 3-4 140H B 3-4 300F9 JEE 1-3-4 470
B B 3 110H =3 270M B & 3-4 250 JEE 3-4-1 1,460M
4 110 1-4 260M B E 3-4 500
1 130M

ABICOVWTRDTEEERROODE. TR LIV,




